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Section - A (Physics|
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27. A nucleus with mass number 240 h'r*_r'nkn mbo two
fragments ench of mass number 120, the hl""“'{“
energy per nucleon of unfragmented I'lllulr‘-]l"l1 L
= & MoV while that of fragments is 8.5 MeV. The
total gain in the Binding Energy in the prooess 18 :
1 DIMeV
@ 04 MeV
3 804 MeV
4y 218MeV
38. A paralle] plate capacitor has a uniform electric
field ‘E' in the space between the plates. If the
distance between the plates is ‘d’ and the nrea of
each plate 1 ‘A’, the energy stored in the capaaitor
18 : (€, = permittivity of free space)
1 e
2 gEAd
1 :
(3) Ezul::ﬂ'-.d
E*Ad
(4) £
29. Polarmolecules are the molecules
(1)  having zero dipole moment.

(2) m&ﬁpﬂlﬂ moment only in [hgpmﬂenm
of electric field due to displacement of

charges,

(3)  acquire adipole moment only when magnetic
field 18 absent.

@ having a permanent electric dipole moment,

30, Aradioactive nucleus ;\. undergoes spontaneous
decay in the sequence
A
gh =7 1Bz 3C 57 oD, where Z is the
atomic number of element X. The possible decay

particles in the sequence are -
() o p,p*
m ul H+l ﬁ-
@ BT ap”
9 B ap*
~ 81.  Consider the following statements (A) and (B)
- and identify the correct answer.
(&) Azenerdiode is connected in reverse bias,
~ whenused as a voltage regulator.
(B) The potential barrier of p-n junction lies
between 0.1V 10 0.3 V.
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A capacitor nfl.‘l'll.'rll.i‘llJ.IT'lL‘E' ', 18 connected f

an ac source of voltage V., given by

Vou 'V, sinmt
ment current between the plat

The displace
; on be given by

the capacitor, would t h

n L= Vi wl cnswt

(2 l.:t = E{l cosint

() I[g=%ﬁinmt

() 1= Vo w ginwt

If E and G respectively denote energ)

E
gravitational constant, then = has the dimens
of:
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A convex lens ‘A’ of focal length 20 cm and 5 co
lens ‘B’ of focal length 5 em are kept alon,
same axie with a distance ‘d’ between them
parallel beam of light falling on ‘A’ leaves ‘R
parallel beam, then the distance 'd in cm w1

(1) 25
@ 15
3) B0
4) 30

If force [F|, acceleration [A] and time [
u!_maen m.-'_the fundamental physical quan
Find the dimensions of energy,

M [F][A]fT)
(& [F][A][T¥)
@ [F][A][T-1)
@ [F]A-1 T

Section - B (Physics)

fuﬁnp ﬂgfwn trangfnrmer connected to an g -
Pply of 220 V is made to operate at 11 \

m.i:liﬁug Power losses in the transf
‘e current in the primary cirey;;
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#4.  For the given cireuit the input digital signals are
applied at the terminals A, Band C. What would
be the output at the terminal v 7
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A uniform rod of length 200 cm and mass 500 g is
1.1.E|,JL.EL:'|L~?:Ijl iﬂ a wedge placed at 40 cm mark : A
mass of 2 kg 1= suspended from the 20 en
' and another unknown mass 'm’ js su=;if134;rf E;E
t']:.“" rod at 160 cm mark as shown in the fipure
Find the value of ‘m’ such that the rod ig in
equilibrium. (g= 10 m/s?) =

0 20cm 40 em 160 cm
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A uniform conducting wire of length 12,
registance ‘R 18 wound up as a current cay

coil in the shape of

i an rf1|11“.'l[-r.'l':'|.| triangle of side ‘»

{(iiy @ square of side ‘a
The magnetic dipole moments of the coil

case respectively are

1,-_]. L'll-l and 3 I.'l‘.'I

{1)

@ Sla=and In~
(3 3dlaanddla®
(49 4Iaand3la?

Two conducting circular loops of radii R
are placed in the same plane with their o,
coinciding. IHR,>=R,, the mutual induci
between them will be direct]y proportionga] t

Hy
(1} H._-;

Ra
(2) i

]

n | 2R
A
(4) E—

R,

From a civeular rng of mass ‘M and rad
E:E'iftl'rﬁ'ﬂp_ﬂndmg 1o a 90 sector is re
: ment of inertia of the réemaining par
SII\';E;:{? Bxis pnfﬂlnp‘ through -':'=-.- enir
Perpendicular to the plane of t

irrs

K & o
times ‘MR2 Then the valu

(1)
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() Cp+Cy=R
@ Cp~Cy=R
@ Cp=ROC,
(4) Cy= Ii{_f‘l,

iz: {13- 4[!}. and HE (Z=72) have Bimilar g
nic radu becauge of ir atomic ang

(1)  belonging to same gro., b
(2) dingonal relationshy,

(3) lanthanoid contraction
(4)

having similar chemical properties

m mAaximum t.ifmpr_-t‘:i'l.nn- that can be nochisved
iﬂ hlﬂl: FHI'I']HL‘_E T ' il

(1) upto 1200K
(@) upto2200 K

(3 upto 1900 K
| (4) uptoBOOOK

Statement 1 :
-;Md gtrength increases in the order given as
VHF << HCl << HBr << H1.

Statement 11

Ab the size of the clements F Cl. Br, | increases

yn the group, the bond strength of HEY, Hl'f'i_

.“ and HI decreases and so the acd strength

n the light of the above stutements, choose the

prrect answer from the options given below.

& ,r‘ Both Statement { and Statement 11
true.

¢ 11 are
Etatﬂmantl and Statemen
.

Statement | 12 correct
::J_

dtatement [ 18
Ratement [ 18 true

=T

| i1 &
aund which shows metamers
L.

Are

but Gratement 11

tnt-.r_-j'rre{_'t |:'|1.11'.
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() Urea salution
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POl (i) Sequnre | .
1) I ey |-||::|-|I TR ETIII..“I
It'-l = ||. i Aid Baas
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i1 fa)-(1v), (b)=(11d, RE-RL (=1 E
(2 {(m)-11e) (hysruin), ()=} tedy-0a

BB 1 =1

(3 {a)-(iid), (b)-11), | 1) Give:

i SETAN
(4 (m)-(1v), (by=(an}, i

hervilium ehloride in

and vapour phase. are

(1) Chain and dimer, respe

(2) Linear in both

() Dimer and Linear, respectn
(4) Chainin both

The correct sequence of bond enthalpy of

Ry
() CHy=F<CH,-Cl<CH,-Br=<1
2) CHy-F>CH,-Cl>CH,-B

(3 ChHy=F<CHy,-Cl>CH,

) CHy=-Cl>CH;-F>CH,-

Which one of the fallowing polyme
I-1:'|-‘EI'I'h'h"I'.:':“:.'!“-']:'I'|:'||".‘I'I!-':||I!|||=_'-_ !

() Teflon

2} Nylon-66
(3)  Novolae
4 Dacron

Dihedral angle of Joq .t L .
18 : * conforn

(1) 120r
(1) ar

@ o
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i f —+ Product
1l Hall I
IFls 'II T |I'|I|-'..'II|
| N
PR L = -]
=-methyl butan-2.q
i major product of th lollowing chemical
LTl I
("H
CH~CH=CH, + R, (CsH "‘”-'”'1'.'
H . i
H
CH CH;-~CH Hr
i'H
LH
(3 Lo = H. = CH. rr_r‘u{‘“u.?
CH
L H
| ﬁ'.li-['l‘r—l:li
{"H i
Br
|'H_
I _"Hl' ‘H.-f'“!
CH '

Ths Incorrect «f

itement imong the
I—

Irr.nﬂu.wmu

{1 .1|.:'|:IF|II|I1l-|.'i|.‘.'|".'|-I|‘1 I8
to element than Lanthin
(2} Most of th trivalen; |

o lrrJI'Jl'J-l- 1N Lhe 8
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Jinthang

id st e
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i4) Actinoids are g hly renctive Moty s
especially when finely dividag )

A particular station of All India Radig, Now D

broadcasts on o frequency of 1 JOS kHg |:'|r,1]1-].]]',‘.“,.tl",_lilll'I
& Wavelength of the 1-!1-1'tm;||:|:|m|ur,1._. r.d-lﬂt-iﬂ '
emitted by the transmitter iy ; |

n
Wpirad of
e=3.0x 10" ms J| tight,
0 219.4m
219.2m

% 1 AN reactions 18 Ln T
1 &0, Which of the followi ”IH' B e right o

iz J & |
displacyment re petion

]
A L ererl4-40.
(1) K0y ——* 2] , '
i AT
! £ T ‘J.t}l T i i .
(@) CryOy+ 24l s Al I
4 Fe+2HCl — FeCl,+H, | I
.I L
| 3
i) 2Pb(NO,), —# 2PBO +4NO, + (), I:‘

correct

gption Ion
. Choose the : : R
o representation of Boyle's law, which <h,

of pressure va. volume of a ga

temperatures :

o -_|I,l||..I L
. ~400F
B0 T

Pressure ()
[har)
e

Volume (vy __ .
(dm™)

—

.”H: 1200 K, 400 K 800 &
2) é E
7 <
£
N I
h’-“llllll]l. |I|. L 5
(dm )
%
T
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n: by .Q,'-."'HH
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(1) g :
2 o 7,
g | L
1'!-'-U|IIII1|- (v >

(i Ay

) i

D) g

400K
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(4)

< E!I'J.l.__'n'rE < Pi-hg_]i

oxadhizing v, Wit

Choose the correct option for the total presy,
atm.)ina mixture of 4 E UE and2gH \ ""ITH_':]'_-:.[ .
a total volume of one htre gt PCia- 11y
[Ei-mn R = (82 L atm mao] - 1 K- 1 Te I
(1) 2518
& 2602
(3 25.18
(4) 2602
Which of the following molecules is non-polar in
nature ?
1 PoCl
@ CHO

' Sh(l,
@ NO,

The product formed in the following chemical
reaction is:




L) | ke alope of Ars henius Plot | In k vis
wrder regebion 107 K. The value of E, of
thie rosmetic n ik {hoose the eorrec opeian or your
ITERWEE
[Caiven R=8.5914 IR~ mol =4
1 i1.5 kJ mal
) a0 kad
1 66 kbl mo
i 53 kd mio)
ag Match List - 1 w List - [1
List - | List - 11
L), MHi e i
T .-_ ?I — | r'.--II-"--=|r|:srrE-
Cu Zelinsky reaction
i}
i) R—C-CH.+ 1) Gattermann-Koch
NI — Meacton
H. "”_: LiH 111 |'|.|.|--1:IJ'ZI_L|
+ (AN |,|| gkl ety
Lone. HaSi
(d) iR—CH,COO0H v} Esterificating
1) XaiBed |
i H "_
Choose the correct answer from the options Elven
b oy
(1) @ -(av), (b)-(1), (e)-ii), (d)-(iiis
(2) (a}-(m), (b){11). (e)-(i} (d¥-fiw)
i) {8 -1} I'h,l-l'l'. ed=(an), 0d =014}
W fal-(), (B)-(d), (eGv), (d)-ii)
93, _F'ur irreversible expansion of gn idien] gas undep
isothermal condition, the correct option fg -
1 - £
f (1 AU = U, J"!-"'rllln'|| =
| = .
(2) AU=0, a8, =0

{3)
()

'iLr:{I' JHll.lhjli‘"
AlU=0, a5

gotal = U

] il 1I|.|'.-|t

14

=u1p|-u|1d X in the

a4 The intermadiate o
1 1'hum|.r.'|1| peaction 1=
1
-, JOH & o
e |'i| $ CrO,Cly—" W - i II;
P [_,
CHMOCROHUL,)
(1 | e ||
L |
S,
CHOCOCH.)
(£) - a
wLY
S
Y 5
i I. a
rﬁf“‘g... H ,|
A ] ||
Ib‘i J
0]
I'!| | II
L%Q-a"‘:.-f""l

Match List - | with List - |

i
List - | '
{n) 250.,(g) + olg) —
e J'.;lga I
(b) HOCl(g) _ he
OH+()
(c) {‘n{‘{L +H.80 —,
f‘uﬁ(rl HHLO4 CO
idj

NOGR) + O

Uhonsy
bielow

thum‘.-rn-:-t BNaEwor o
(1)
(2)

(@ (id-(iv), R, (e)-00). (o)
4 {I.'!-l.'ﬁljp{h}.m'_lr fed-(iv), (d)-ti

m-"m- [h1-|m_u-| RTTIN

)=, (B)-tiii). (o)(iv) ¢




NH

; I-l i iﬁ,ﬂmmﬂ Hg'

ey
wrrec EL Which O the: fisf) : B“'Lun:n "
I 'Win il
h PEsEF hni |'|3III-'Il=:|-|,¢':l" e
: (1) Eﬂ!unmm“
2 Gracilri,
Voluoy
[ Ulathrix
@ Amensalism can be LT T
() Species A [ - ) Bpecies ,I
[2] Hrlﬂ'i:‘il!'ﬂ A4 | I :‘:Ill‘l"' 1 ;l, | I-.
W)  Specien A (-); Sper;
. a3
of 1ons which one is not (M) SBpecies Al+); Specws B

108, Match List -1 with List - 11

i,

-

¥

Section . ,

List -1 || me——___
||1'$1m:-r'. COLAS Fu

{1)
\ lehromrsome

Dhsc-shaped ._
IIRANSON \ \ﬂi}nlgﬁ AppaEratus

El'ﬂ'ﬂl s 10
Centromers lmullﬂ . B

Cristae

(a)

(b}

(e)

mtochondria

\Flattened memnbran s
sacs In stroma of
plastids

Choose the correct answer from the options grven

below.

(d)

Cisternae \ (1%}

@ @M © @
Mm m @ @ o
{2} (1) ) (m) m)
3 @) wm O ™
W @ @) ™ W
104 Thephnthnmnfmaedta&ﬁmr}'wﬂdﬁma.&e}&
is :
M 1AA
(@) NAA
@ 24D

S A
Diadelphous stamens ore
(China rose

found in'
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M3 |
1
= Whacd { the following = o corTeet e () L F1ET
1‘ L ¥ 1 F ’ L " ! -ee 1 [1' 5 l.l 1]
f T ¥ rl'i r-" |:" .'..I-" 1 g " :I.I"I'rl L I1 )
T L ! | i E
' Denaturation Annealing. Extension

. g Y
Denaturation. Extension, Anne atin

i) Extension, [Denaturmtion Annealing

(s \nneahng, Denaturation. Extension

108, The site of perception of light m plants during
photoperiodism 1=

(1 Shoot apex
(4] Stem

(3  Axllary bud

=

AT Leaf

108. Which of the following is an incorrect
statement 7

t"],._a;'}ﬂ"" Mature sieve tube elements PORSERE &
conspicuous nucleus and usual cytoplasmic
organelles.

(2)  Microbodies are present both in plant and
anumal cells,

(3) The perinuclesr space forms a barrier
between the materiala present inside the
nucleus and that of the evtoplasm.

4)  Nuclear pores act gg passages for proteins
and RNA molecules in both directions
between nucleus and cytoplasm,

18> The first stable product of CO,y fixation in sorghum

IS5

B Pyruvic acid
A Oxaloacetic acid
{3) Succime acid

(4)  Phosphoglyvceric acid

Ll’z_ When gene targetting involving geng amplification
18 attempted in an individual's tizssys tg treat
disease, it is known as -

() Biopiracy
A Gene therapy
D e

Shot on realme 2
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{11
L
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{3}

118, Whu

(1)

AKX

114, Whas

me L
i1}

i3}

=

L

I-I.-'?L W hie

B
(2]
(%)

(4)

(1)
[#4]
(4}

g

DNA

(1)

2)

{3)
m.-

I.hl
1L Aint
P —

Choo
bvi low

l_l_'E. Mutations

ist - I with List - []

&0 e correct ar

(n) {h) (o) (d)
L) 1'% 1
(11

(m) O u i

@ ) (D 1)

hof the following stag

divigion of centromer

."'nll'f.:F'h.E'-' i
.1II-1I. '-.lj'_l! | = -Il

/ﬁr Anaphase [1

lelophase 11

n of the following ars
f---i:!.r---||||-|--||r-
Morphine, codeing

Amino acids. glucos:
'-.r:1I|!.|.--[:|r|, curcumin

Rubber, pums

hof the follow ing plant
Carien Dapayi
Chara
.1-1-'1'1":'."?-.1:.'.'.!':1 Potymorph

Cycas circinglis

n plant cells can b
Kinetin

Infrared rays

Gammg rays

LZeatin

1L During the PUrification 1o

technulﬂgy. additio

Precipitatey g .

RNA

DNA

Histoneg

P Dlymhhrid_ca

_|.I"l-1|' _I
b [Fameoptast forion | 0]
H [Fian tisue culurogorl?
ie) | Moristem _— [ Tri) |
[(d) [ Micropropaga!

BERY |




mwﬂ‘: s il
a8 :
(1) Yellow bands
Bright orange 1, i
Dﬂ.l'k red hmllia
Eﬁ.ﬂ'ht E']-"JIE‘ hﬂ-ﬂdﬂ.

. -
| :.':1;;:.'“]t“:I:it':;'l.;-:l\rl-l;:l'ult leads to i11fJI|.|J'H;|F.lr efficy
Natural selection
ﬁEﬂEﬁt:rﬂnt:mhmHurm
Mutation
@) Geneticdrift

L= [T

1= .ITI.I"-IIl'I.;..'

W'hnn LhE' centromere iz it
L qul.ﬂ.] arms of ¢ thromog
ie referred s -

ME'{H ceEntre
Telocentric

Luntes -‘| I]'l'r'l'll' rmd |.|| ol

BOMmMes the e hire T (i e

Sub-metacentric
Acrocentrie

ot secondary
7. _Gﬁnﬂrﬂ like Selaginella and Salviniq produce twy
kinds of spores. Such plants are known as
Homosorus
Heterosorus
Homosporous

Heterosporous

Matchust I with List-11.

List -1
More attraction in
liquid phase
Mutual attraction
(1) |among waler
molecules

Water loss n hiquid
) 1hﬂ SE . |
|

Attraction towards
alar surfaces

from the oprons gIven

(1v)

see the correct answer

(b)
(i)
(1)

on realme 2




18F = o 1EL] jh.: I
!

N [__— e Last I-I
- et T TVasculn
A i, 4 mal |.| i
[ [Cells with notive & @ i UL OS

division cnpacity = |ti
Tissue having ull cells IMoriatamati

'El'l]"'"”rll Tl

gimilar n

and function . 4

jane /-

Ti=sui Raving
\ one of oalls |

different types of < ol
Dend cells with ghty

thickenoed winlls pprd

naFrow lumen

optinns given

Salect the carrect answer from | hu
halow

e 2 tep lioa i ' (mp (b) () (d)
_,P" plis P ] : T o i) (i) : e
e . 11-Protein -
|l\l(_\\ 18] I 1115 ' T vt 5 “-I"..I {111} i

Whach afthe filqw i1 i1l

i1 Pyram
ImveErted

D tot correct |

i8 geEnarplly

Pyramd
§ nerally

upright \
Pyramid of o ns v aVE RIS Section - B (Biology : Botany]|
Pyramid of num| I .:'I igeland

BCOEVELEM

Match Column - 1 with Column 11

"2 Inspite of interspooifi petition 1n nature
which mechanism th FLINE species might |_ Column -1 Column I

ave evolvedfor (| u ! () | Nitrococeus Denitrification
2111 cation

lj-'- Heso I T 1 . _ . :
= T (=) R.i'a.':u.!m,-”.. { Conversion of

; N
_ lammonia to nitrits

(L) Competitn

—

Y "?Ium"l . (oh | Thiobacillys : | Conversion of nitrit
(] Predatio —_— Lo nitrate
% I-||'|.|_'::..r|-r

. atch Li it st - I1  baoes
e " ]I e - : (@) (Nitrobacte, atmospheric nit

List - I | List - 1 L e
[La} [Lenticels : 143 *hellogen =i Ch —_—
I'Z_r'u Cork cambium - |lul (Suberin geposition | | Lose
. e . elow
i) |Secondary cortex i) |Bxchangs Ol gRses
(d) | Cork [y Phelloderm ) s
(Chooge the correct answel from the options given )
e 61 T Y
a) (b) I(c) {d)

1 6 o (i} 0 . ()

th'—' ﬂul‘rFL’t .E]T:_"\-'Iﬂ"._.':l || m |I'|.|| "

(c) (d)
LE BT R]

) iy
(2) I : " .

() {11] {1 : [l
) (v (@ 1) &

i) (i)

W

LY
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i
1]

pelow.
@ (b (e (@
av) @) Gl @)
g Gy @ @ G
@ G v @) 6 e
138 Match Column -1 with Column -IL P"‘C'
Calumn -1 Column - 11

) %0 B CyenspphmsiCr @ Brassicacene

) #§K 5 CAsGa @) Liliaceae
P
| e N iii) Fabaceae
v © #¢Py. 385,580 L
id) #OK,. sCAs_ G (iv) Solanaceae
Salapt the correct answer from the options given
olumn -1 below
= fa) (b) (e} (d)
Column -l m @ G @ &
. @ @
@ G
LU

0 ' on realme 2

“I' ' l d-th m Batsments s hl'l'hl:ll'rl:l.r't ;

Both ATP and NADPH .y

synthesized during BOT - g
lation. o
Stroma Iamellae have PS | only 4nd 100

NADP reductnse
Grana lamellas have both PS | and PS [

Cyelic photophosphorylation involyes b
PSland PS 1L :

What is the role of RNA polymerase 111 in 1he

(1)
(2)
(@)
(4

of transcription in eukarvotes 7
Transcribes rRNA« (285 188 and 5 8%
Transcribes tRNA. 5e rRNA and enRN A
Transcribes precursor af mRENA .
Transcribes only enRENAs

Now a days it i= possible to detect the mutated

gene m."m-'pg eancer by allowing radioactive probs
to hybridise its complimentary DNA in a clone of

cells, [ﬂ"ﬂ-WEﬂ h}' ite detection UsSing

autoradiography because -

(1] mutated gene partially appears on a
photographic film.

(@ mutated gene completely and clearly
appears on a photographic film. -

{3) mutated gene does not appear on a
photographic film as the probe has no
complimentanty with it

(4 mutated gene does not appear on

photographic film as the probe has
complimentarity withit,

144. Which of the following statements is correct”

¥

3
“

145. Match List - 1 with List - I1.

Fusion of two cells iz called Karyogamy
Fusion of protoplasms between two motile
on non-motile gametes is called plasmogamy
Organisms that depend on living plants are
called saprophytes.

Some of the organisms can fix atmospheric
nitrogen in specialized cells called sheath
cells,

List - Il

C = double bonds

Phosphodiester bonds

i) | Glycosidic bonds
Peptiude bonds

ﬂﬂw answer from the options given

(e) (d

@ G~

G @

iv) (i) X
@ F
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"lﬂf‘ &1&1 Ih.l.'l CoOrrect poair &tuun o ﬁ lnlnlun . Zﬂnlug}’l
(1) Lﬂ.ﬂtt- colorleas empty I Suhﬂld.iﬂr:l.' calls
cells in the epidermis 151. Which of the following characteristes ,  incorrect
of grass leaves with respect to cockroach 7
(2) In dicot leaves, vascular - Conjunctive r,!l.«li A ring of mn.at:nc CABCH I8 present at the
bundles are surrounded  tissye junction of midgut and hind gy,
by large thick-walled @  Hypopharynx lies within the covity anclog|
cells by the mouth parts.
& E_;Usfnfmfdu!iary raye - Interfascicular (3 In females, Tth-9th gternn togethep form &
S S pazt of cambium genital pouch.
i (4 10" abdominal segment in both sexes, benrg
“ Lﬂﬂﬂﬂpﬂ.rﬂnth}':ua cells - Spongy a pair of anal cerci.
rupturing the epidermis  parenchyma ; :
and forming a lens- 152 Match List - I with List - I1.
SIS sAlig in bark List - 1 List-11
a3, Dxﬂﬁngemlfintmgl.““'h_‘"“it""'ﬂﬂ'."‘-m:ei.lﬂ'ewnﬂe.ﬁ (a) |Metamerism —1 () l‘am-]u-:a'.-.-'_-n |
J:l_bumes ¢ regions in DNA sequence, called (b) |Canal system _ Ctenophira '
- - - . ; el
Satellite DNA (c) |Comb plates A JAnnehids
(2} Repetitive DNA (d |Cnidoblasts A . (i) |'l-"m'|fc~|'..
(3) Single nucleotides Choose the correct answer from the options given
(4) Polymorphic DNA below
: (a) (b) (e} (d)
@ FlasEuG pBILISS has Pstl restriction ARG B (1) v) (m) Q) {n) X
within gene ﬂﬂ'I_PH that confers ampicillin & G BN ) P
resistance. [f this enzyme 12 used for inserting a -W . X s tu _
gene for B-galactoside production and the &) ”“.] uv) “!-" '-':'.
recombinant plasmid i= inserted in an E.coli strain @ v G (i)  ()-v
(1) ]t ?1“ not be nlj-'l_ﬁ_ " ]q-:lnn_ier ampicillin 153. A specific recognition sequence identified by
resistance to the host cell. endonucleases to make cuts at specific positions
) the transformed cells will have the ability within the DNA is :
to resist ampicillin as well as produce (1)  Degenerate primer sequenc
B-galactosde. ¥  Oks e i fi " i
@) it willlead to lysis of host cell. b RERL S
: ' - 'J:f Palindromic Nucleotide sequences
{ﬂ'f it will be able to produce a novel protein with |
dual ability () Poly(A) tail sequences
- Identify the correct statement. 154. Ehelffmfﬂé'hﬂﬂﬂEh.'t'ﬁmm;mnr-_-: 4n)1n each :.|'
: anosine triphosphate uring interphase of Mitosis 1f the num ber
(1) Incappmg methyl gu p e
1 i .t_h E'Lendgfhuﬂ"‘hi_ chromosomes at Gl phase 15 8, what would be (0
i Yo the : i number of chromosomes after S phnse ?
2) RENA polymerase binds with Rho factor to 0 8 o
teyminate the process of transcription in {:1.3 ¥, v ™
3
The coding strand in a transcription unit is (3 4
SR (4 a2
copied to an mENA.
- is characteristic of ;
Split gene ar rangement 1s i 158. Persons with ‘AB' blood group ure called 45
prokar “Universal recipients”. This 1= duc to
ﬂanh&rldw}:dch of the following pairs AT Absence of antigens A and I3 on the surfi®
&, pollen grains retain their viability for of RBCs
a s HE ) Absence nftlﬂtigﬂnﬁ_i:nhi B in plasma ]
- _h tosacene (3 Presence of antibodies, anti-A and ant ¥
eae J 1 on RBCe
()  Absence of antibodies, nnti-A and ant-H 7
plasma
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)

" l:imnde H'i:_';‘ i He) of M3
m) are -
- p0y=104 and pCO, = 45 1
Pﬂi—lﬂandprn = 45 '
Pui‘gﬁﬂnﬂpﬂ:- =40

:;. . FGE'E 159 and pf'l'} =03

m between a ma)e and rn--n It
ygous for sickle cell anaemi; ayp
age of the progeny wij| be dige

|.I n
i BEn (i
Bt -||;1.;.JlJ (the . 'l‘l
Wi gyf

Ty 5

100%

n_- stage of meiotic Prophas

termins isation of l:':h]:-':F_'-m.'gm a8 its distinctive
2 2 LN

e shows
Leptotene
Zyegotene
Diakinesis
Pachytene
fich one of the following organsms bears hollow
i pneumatic long bones "
[ Neophron
‘Hemidactylus
Mo FOpILS

&-mt.h.arh ynchus
16 fu]lml-'iIlg '

It
et | el g |
e [ [Porupuotian o Ve |

m JAving Iuh*-ﬂl .=

ﬂ Hodkworn

ﬂﬂn'el:t answer from the options given

. , 8 ‘b) {c] {d']
G 0 W
W @ @) 6
@) v O
Giv) (@)



in) (b} (e ()

AN LR oorrect

{n) (b} (o)

i m) i il entify the necoreect po

170, . Veneral disegses can spread throug | dknbogds
L aterile
[) Tranafusios
i) |nfected mothert
{il) hisgsing
() [nheritancs k . |

OTERT
Chooge the correct answer irom L ILIOTES RIvEd] endomeml

¢E thnt
rine sVELGIm AT

bwes Lo .
] F.nd ||.|.--'.|I|-. reELa
(1 {a). (b) and (c) only

% RHibnanmes nnd Lys:

¥ o il () O EII"- 1
() (Bl and (d2 ot ;.ﬂﬂ Endoplasmic ret

- (b)and (c) only P |

i) {a) and () only

¥ BOROTTIES |1'|-| "-. L

Golg complex, Mitol
The centrinle undergoes duplication during | yBosomies .
:,L.""'-- S-phase f4) Ciolgt complex
(2) Prophase '."__1'2" hondria

i@  Metaphase "
4 H PI‘I.I].HE LTT. Chronie auto immune o

T 1454 '.I|.!I LR
@ Receptors for sperm hinding in mammols @re and paralyes
present on
(1)  Coronn endinta
)  Vitelline membrane
#  Perivitelline space
N W Zona pellucnida
iy :-| [ %
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une
& r n
dunction of hey,,
‘- Pancreq -

!“ll L &

Read the following stat.

@ Metagenesis =

B BENens 1 observed in Helmin!
hlnud AT trli:'l."'lhllll X mintng

ﬂ'nimﬂlﬁ C: BN el
WM

Round worms have ore:
?:Ud:‘ organization FeSERAT. tavel of
;ETE];;IT::I% present in ctenophores help in
""fat':f vascular svatem 1s ¢f
i:.{_‘h[nml._-m-,._ ] & Charaeteristie of

E:hﬂ;j' the correct answer from the options given

(1) (c), (d) and (¢) nre correct

J".’.-‘.‘: {_1'”.‘|h”'lﬂ.d"-"ilTl.'l'1Ir|!'1'l'.'Z

@  (a),(d)and (o) arecorrect

4y (b)) and (¢) are corredt

Section - B (Biology Zoology)

186. Which of these 18 not an’ mportant com e

imt'mtmn of pu,rl,ur“ \on in humans |

el Increase N pRtrogen and progeste rone Thtl

(2) 5}‘ nthess of |in'1'|_—.1:1|__'[||;-,r!| |18

(3 Release of Oxytoan

(4) Release ! { Prolactin

During munru'uw pptraction which ol
follpwing avents 0ot !

|’ gone iE3F penrs

‘A hand widens

1 band peduces i

My nEine hy drolyees:
_redto qotins AT¢ puﬂr’!ﬂl

1 amﬂﬁ'l:rfrnm vhe opod
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ia hum IR 3
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sthimi=a

Tk
Ly ! |..-,|.|_--|:1I|I L ':I"'Ir
AL N

1 Jding
{ huws B0 spban ATOImS ! wite
=] L

g PR

T s gEver
i anmwar e p Jir o LNNE B
e prrec] arEwar i

pot A siep 10 Multiple
rransfer Techn yoEy

—.d hormons having LH
o avulaticn

1 '--'H-ﬂ'i,".*."ﬂ A time
artificial insemination

o transferred to surrogale

stAge

rtians that help to stop

<5 aCcross A tissue and

iennion with neighbourning
: and maolecules

Adhering junciions,
Il |."J

Lrap Juncbions,

Adhering junctiones
rf'"r""1|".'|-:_

and Tight junctions,

Adhering juni

tione and Giap junctions

respectively,

191. The Adenosine deaminase deficiency results into ¢

»

(el
L

Dvafunction of Immune system
Parkinson s disease
[ 1] Digestive disorder

{4 Addison s dissnee

184,

R 1 Lad bR l

Aoth Statems

|'|-| | =i

Tt |

5[3t|'|’l|1"|1t | i

LH !lil]?'

Statement
Statems i

Match List-1w ith

e

T I
|1||"1| -I!II.I:-:I A

(] “'lL Tr1'|1|:l

| I:_:','- I W '\.']'l.','] ) ! 1l i
(“hooee the correct
below

{m) (b
i1

%)

11l 131}
110
L%

111

(&) (1) (i

i1

Last

ILI'I'I'I

iTLEWE

| L

Match List - 1 with List - 11

| Liat - | |
- l

List

(i) | Filariasis

|.Itilll

|r|r it

(b} | Amoehinais

) |77

Lo

Pneumonia '

id)

Ringworm

Giad) | W
{iv) | En:

Choose the correet answ i

below,

(@)
(v
27 (i)
@ 6
@ o

(b)
()
iv)
()
(1)

L)
L)
Y
(iv)

{d)
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| 200. Match List -1 with List . I
| T

(i}

e

. i Belection of resistan:
l a Falubs e i) varietws due t ] ERC TR
JJ . Nradiation use of herbicides gnd
e

esticides

H @ I Bones of forelimbs in Man.
ey and Whale

| @ f IVer E-ET_'ll () Wings of Butterfly and
3 avolution Bard
| |Evolution by i
ant]:lmpu- (iv) [Darwin Finches
ranic action

(b) (e (d

G G

Gv) iy W

G) ® O
4]
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